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106 107

3. Weightage to content:

Chapters Marks

1. Set Theory 5

2. Quadratic Equation 8

3. Ratio, Proportion & Variation 7

4. Banking 3

5. Tax 4

6. Theorems on Circles 7

7. Locus 3

8. Symetry & Similar Triangles 4

9. Construction of Quadrilaterals 4

10. Triginometric Ratios 4

11. Heights & Distance 4

12. Mensuration 8

13. Statistics & Probability 8+3=11

14. Coordinate Geometry 8

Theory Total : 80

Practical : 20

Total : 100D
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109

MODEL QUESTION PAPER
GENERAL MATHEMATICS

CLASS : X

TIME- 3 hours FULL MARKS:80
PASS MARKS:24

INSTRUCTIONS:
1. All questions are compulsory.
2. The figures given in the margin indicate the full marks for the questions.

1. Choose the correct answer. 1x5=5
qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±º
(i) Nature of the roots of the equation ax2-bx-c=0 depends on
ax2-bx-c=0 ¸˜œfl¡1Ì1 ˜”˘ ≈√È¬±1 õ∂fl‘¡øÓ¬1 øÚÌ«±˚˛fl¡ÀÈ¬± ˝√√í˘
(a) b2 - 4ac
(b) -b2 - 4ac
(c) -b2 + 4ac
(d) b2 + 4ac
(ii) The value of θ  is 750, then value of cosec2θ  - cot2 θ  is

θ 1 ˜±Ú 750 ˝√√íÀ˘ cosec2θ - cot2θ  1 ˜±Ú ˝√√í¬ı
(a) -1     (b) 1    (c) 0   (d) 2
(iii) The mode of distribution: 4,5,6,3,4,5,2,8,5,2 is
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4,5,6,3,4,5,2,8,5,2 ø¬ıˆ¬±Ê√ÚÀÈ¬±1 ¬ıU˘fl¡
(a) 8        (b) 6         (c) 5         (d) 4
(iv) If P(E)=0.1, then the value of P(E ) is
˚ø√ P(E)=0.1, P( E ) 1 ̃ ±Ú ̋ √√í¬ı
(a) 0.1   (b) 10    (c) 1   (d) 0.9

(v) The co-ordinates of the centroid of the triangle with vertex (2,0),
(0,4) and (6,8) is
(2,0), (0,4) ’±1n∏ (6,8) ˙œ¯∏«ø¬ıµ≈ ø¬ıø˙©Ü øSˆ¬≈Ê√ÀÈ¬±1 ˆ¬1Àfl¡f1 ¶ö±Ú±—fl¡
(a) (0,0)      (b) (4,6)    (c) (8/3,4)     (d) (4,8/3)

2. Give answers of the following: 1x10=10
Ó¬˘1 õ∂ùü¸˜”˝√√1 Î¬◊M√√1 ø√˚˛±º
(i) { } { , } ?P a bϕ ∩ =
(ii) Show using Venn diagram that: A B A B− = ∩ ′
Œˆ¬Ú ø‰¬S1 ¸˝√√±˚˛Ó¬ Œ√‡≈›ª± Œ˚ A B A B− = ∩ ′
(iii) The one zero of the quadratic expression, ay2+by+c is α , then write
one factor of it.
ay2+by+c ø¡Z‚±Ó¬ 1±ø˙ÀÈ¬±1 ¤È¬± ˙”Ú… α  ˝√√íÀ˘ ˝◊√√˚˛±1 ¤È¬± Î¬◊»¬Û±√fl¡ ø˘‡±º
(iv) Determine whether the following given quadratic equation have real
roots:
9x2- 9(a+b)x+(2a2+5ab+2b2)=0
Ó¬˘Ó¬ ø√˚˛± ø¡Z‚±Ó¬ ¸˜œfl¡1ÌÀÈ¬±1 ¬ı±ô¶ª ˜”˘ ’±ÀÂ√ÀÚ øÚÌ«˚˛ fl¡1±º
9x2- 9(a+b)x+(2a2+5ab+2b2)=0
(v) What is the locus of the middle point of the parallel chords of a
circle?
¬ı‘M√√1 ¸˜±ôL1±˘ Ê√…±À¬ı±11 ˜Ò…ø¬ıµ≈1 fl¡é¬¬ÛÔ øfl¡∑
(vi) What is the total surface area of a solid hemisphere?

¤È¬± Œ·±È¬± ’Ò«À·±˘fl¡1 ˜≈Í¬ ¬Û‘á¬fl¡±ø˘ øfl¡˜±Ú∑
(vii) If the mean of 6,8,5,7,x and 4 is 7, then find the value of x.
6,8,5,7,x ’±1n∏ 4 1 ˜±Ò… 7 ˝√√íÀ˘ x 1 ˜±Ú øfl¡˜±Ú∑
(viii) Find the median of the distribution: 15,17,25,11,13,21,27,29
15,17,25,11,13,21,27,29 ø¬ıˆ¬±Ê√ÚÀÈ¬±1 ˜Ò…˜± øÚÌ«˚˛ fl¡1±º
(ix) What is the distance of the point (-6, -8) from the origin?
˜”˘ø¬ıµ≈1¬Û1± (-6, -8) ø¬ıµ≈ÀÈ¬±1 ”√1Q øfl¡˜±Ú∑
(x) If A={2n | n ∈ N} and B= {3n | n ∈ N}, find the intersection of A and
B.
˚ø√ A={2n | n ∈ N} ’±1n∏ B= {3n | n ∈ N} , A A ’±1n∏ B 1 ŒÂ√√Ú Î¬◊ø˘›ª±º√
3. For what value of x, the quadratic expression 9x2+3x is equal to 2? x
1 øfl¡ ˜±Ú1 ¬ı±À¬ı ø¡Z‚±Ó¬ 1±ø˙ 9x2+3x, 2 1 ¸˜±Ú ˝√√í¬ı∑ 2

4. For two finite sets A and B, show that: 2
( ) ( ) ( ) ( )n A B n A n B n A B∪ = + − ∩

≈√È¬± ¸˜œ˜ ¸—˝√√øÓ¬ A  ’±1n∏ B1 fl¡±1ÀÌ Œ√‡≈›ª± Œ˚
( ) ( ) ( ) ( )n A B n A n B n A B∪ = + − ∩

5. PQR be a triangle which is symmetrical about a line l through P. Show
that: 2
(i) V PQR is isosceles with PQ=PR
(ii) l is perpendicular bisector of QR
PQR ¤È¬± øSˆ¬≈Ê√, ø˚ P ø¬ıµ≈1 ˜±ÀÊ√ø√ Œ˚±ª± Œ1‡± l ¸±À¬ÛÀé¬ ¸˜ø˜Ó¬º Œ√‡≈›ª± Œ˚
(i) V PQR ¤È¬± ¸˜ø¡Z¬ı±U øSˆ¬≈Ê√ ˚±1 PQ=PR
(ii) l, QR 1 ˘•§ ¸˜ø¡Z‡Gfl¡

6. E is the mid-point of the CD which is being a side of parallelogram ABCD.

If BE cuts AC at X, then prove that: AX=
2
3

AC 2

ABCD ¸±˜ôLø1fl¡1 CD ¬ı±U1 ˜Ò…ø¬ıµ≈ E º ˚ø√ BE Œ˚˛ AC fl¡ X ø¬ıµ≈Ó¬ fl¡±ÀÈ¬,
110 111
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õ∂˜±Ì fl¡1± Œ˚ AX=
2
3

AC

7. Construct a circle of radius 4cm passing through the points M and N
which are mutually apart from each other by 5cm. ( Using ruler and
compass only) 2
4 ŒÂ√– ø˜– ¬ı…±¸±X«1 ¤È¬± ¬ı‘M√√ ’“±fl¡± ̊ ±ÀÓ¬ ̋ ◊√√ ¬Û1¶Û1 5 ŒÂ√– ø˜– ”√1QÓ¬ Ôfl¡± ≈√È¬± ø¬ıµ≈
M ’±1n∏ N 1 ˜±ÀÊ√ø√ ˚±˚˛º [Œfl¡ª˘ 1n∏˘±1 ’±1n∏ fl¡•Û±Â√ ¬ı…ª˝√√±1 fl¡ø1¬ı±]

8. In the trapezium ABCD, AB || DC. If AB= 4.5 cm, BC= 2.6 cm, CD=
2.8 cm and AD= 2 cm construct the trapezium ABCD. 2
ABCD ŒSø¬ÛøÊ√˚˛±˜1 AB || DCº ˚ø√ AB=4.5 ŒÂ√– ø˜–, BC=2.6 ŒÂ√– ø˜–,
CD=2.8 ŒÂ– ø˜– ’±1n∏ AD=2 ŒÂ√– ø˜– ŒSø¬ÛøÊ√˚˛±˜ÀÈ¬± ’“±fl¡±º√

9. Construct a rhombus with side 6cm and one diagonal 8 cm. 2
¬ı±U 6 ŒÂ√– ø˜– ’±1n∏ ¤Î¬±˘ fl¡Ì« 8 ŒÂ√– ø˜– Œ˝√√±ª±Õfl¡ ¤È¬± 1•§±‰¬√ ’“±fl¡±º

10. The length, breadth and height of a cuboid are 50 cm, 20 cm and 10 cm
respectively. If 10 small cuboids of same size can be made form this
cuboid, what will be the volume of each smaller cuboid? 2
¤È¬± ’±˚˛Ó¬‚Ú1 ∆√‚«, õ∂¶ö ’±1n∏ Î¬◊2‰¬Ó¬± SêÀ˜ 50 ŒÂ√– ø˜– 20 ŒÂ√– ø˜– ’±1n∏ 10 ŒÂ√–
ø˜–º ˚ø√ ˝◊√√˚˛±1¬Û1± 10 È¬± ̧ ˜±Ú ŒÊ√±‡1 ’±˚˛Ó¬Ú Î¬◊ø˘˚˛±¬ı ¬Û±ø1, õ∂ÀÓ¬…fl¡ÀÈ¬±1 ’±˚˛Ó¬Ú
øfl¡˜±Ú ˝√√í¬ı∑

11. There are six balls in a bag which are identical and of which one is white,
five are blue. One ball is taken out without looking into the bag. Find the
probabilities so that
(i) the ball is white    (ii) the ball is blue. 2
¤‡Ú Œ˜±Ú±Ó¬ 6 È¬± ’ø¬ıfl¡˘ [¤Àfl¡ Ò1Ì1] ¬ı˘ ’±ÀÂ√ ˚±1 ¤È¬± ¬ı·±, ¬Û“±‰¬È¬±
Úœ˘±º Œ˜±Ú±‡Ú ŒÚ±À‰¬±ª±Õfl¡ ¬ı˘ ¤È¬± Î¬◊ø˘˚˛±˝◊√√ ’Ú± ̋ √√í˘º ̧ y±øªÓ¬± øÚÌ«˚˛
fl¡1± ˚±ÀÓ¬ -
(i) ¬ı˘ÀÈ¬± ¬ı·± ˝√√˚˛        (ii) ¬ı˘ÀÈ¬± Úœ˘± ˝√√˚˛º

12. If the points (a,0), (0,b) and (1,1) are collinear, prove that: 2
1 1

1
a b

+ =

˚ø√ (a,0), (0,b) ’±1n∏ (1,1) ø¬ıµ≈ Œfl¡˝◊√√È¬± ¸˜À1‡œ˚˛, õ∂˜±Ì fl¡1± Œ˚ 
1 1

1
a b

+ =

13. If the roots of the equation 3x2+(6+4a)x+8a=0 are equal, find the value
of a. 3
˚ø√ 3x2+(6+4a)x+8a=0 ¸˜œfl¡1Ì1 ˜”˘ ≈√È¬± ¸˜±Ú, a 1 ˜±Ú øÚÌ«˚˛ fl¡1±º

14. The ratio of the present ages of Shanta and Shista is 7:9. If after four
years ratio of their ages will be 4:5, then find their present ages. 3
˙±ôL ’±1n∏ ø˙©Ü1 ¬ıÓ«¬˜±Ú ¬ı˚˛¸1 ’Ú≈¬Û±Ó¬ 7:9 º ˚ø√ ‰¬±ø1 ¬ıÂ√11 ø¬ÛÂ√Ó¬ ŒÓ¬›“À˘±fl¡1
¬ı˚˛¸1 ’Ú≈¬Û±Ó¬ 4 : 5 ˝√√˚˛, ŒÓ¬›“À˘±fl¡1 ¬ıÓ«¬˜±Ú ¬ı˚˛¸ Î¬◊ø˘›ª±º

15. The transaction of the pass book of a person are given below:
¤Ê√Ú ˜±Ú≈˝√√1 ¬Û±Â√¬ı≈fl¡Ó¬ Ôfl¡± Œfl¡˝◊√√È¬±˜±Ú Œ˘Ú-Œ√Ú Ó¬˘Ó¬ Œ√‡≈›ª± ˝√√í˘ñ

Date 
Ó¬±ø1‡ 

Particulars 
ø¬ıª1Ì 

Withdrawal
(Rs) 

Î¬◊ÀÍ¬±ª± È¬fl¡±1 
¬Ûø1˜±Ì 

Deposit (Rs) 
Ê√˜± fl¡1± È¬fl¡±1 

¬Ûø1˜±Ì 

Balance 
(Rs) 

Ó¬˝√√ø¬ı˘ 

Jan 13 By case/ Ú·√ ø˝√√‰¬±À¬Û  1000  1000 

Jan 20 To cheque/ Œ‰¬fl¡1 Ê√ø1˚˛ÀÓ¬ 200   800 
Feb 5 By cheque/Œ‰¬fl¡ ø˝√√‰¬±À¬Û  5000 5800 
Feb 17 By cheque/ Œ‰¬fl¡ ø˝√√‰¬±À¬Û  2000 7800 
April 3 ATM/ ATM 1 ¡Z±1± 1000  6800 
April 9 By cash/ Ú·√ ø˝√√‰¬±À¬Û  3000 9800 
April 20 To cheque/ Œ‰¬fl¡1 Ê√ø1˚˛ÀÓ¬ 4000  5800 
May 6 ATM/ATM 1 ¡Z±1± 1000  4800 
May 9 By cash/ Ú·√ ø˝√√‰¬±À¬Û  375 5175 
August 12 By cash/ Ú·√ ø˝√√‰¬±À¬Û  2000 7175 
Sept 4 ATM /ATM 1 ¡Z±1± 3100  4075 
Oct 22 By cash/ Ú·√ ø˝√√‰¬±À¬Û  5000 9075 
Dec 7 ATM/ATM 1 ¡Z±1± 3500  5575 

112 113
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If the rate of interest is 5%, find the interest to be received by the person
at the end of December.
˚ø√ ¸≈Ó¬1 ˝√√±1 5% ˝√√˚˛, øÎ¬À‰¬•§11 Œ˙¯∏Ó¬ ˜±Ú≈˝√√Ê√ÀÚ øfl¡˜±Ú ¸≈Ó¬ ˘±ˆ¬ fl¡ø1¬ı∑

16. O  and O′  are the centres of two mutually intersecting circles. A line
drawn parallel to OO/ and passing through one of the point of intersections
of the circle cuts the circles at the points A and B respectively. Show that:
AB= 2 xOO′ . 3

O ’±1n∏ O′ Œfl¡fœ˚˛ ¬ı‘M√√ ≈√È¬±˝◊√√ fl¡È¬±fl¡øÈ¬ fl¡1± ¤È¬± ø¬ıµ≈1 ˜±ÀÊ√À1 OO′ 1
¸˜±ôL1±˘Õfl¡ È¬Ú± Œ1‡±˝◊√√ ¬ı‘M√√≈√È¬±fl¡ SêÀ˜ A ’±1n∏ B 1 ø¬ıµ≈Ó¬ fl¡±øÈ¬À˘ Œ√‡≈›ª± Œ˚
AB= 2 xOO′

17. Prove the following identity: 3
Ó¬˘1 ’Àˆ¬√ÀÈ¬± õ∂˜±Ì fl¡1± –

sin (1 cos )
2cos

1 cos sin
ec

θ θ θ
θ θ

+   + =      +
18. A variable y is the sum of two quantities such that x2 varies directly as

one and x3 varies directly as the other. Here, x=1 results in y = 4, but x =
-2 results in y=10. Show that: 2y= x2(7+x) 4
¤È¬± ‰¬˘fl¡ y ¤ÀÚ ≈√È¬± 1±ø˙1 ¸˜ø©Ü, ˚±1 ¤È¬±1 ∆¸ÀÓ¬ x2 1 õ∂Ó¬…é¬ ø¬ı‰¬1Ì ˝√√˚˛, ’±1n∏
’±ÚÀÈ¬±1 ∆¸ÀÓ¬ x3 1 õ∂Ó¬…é¬ ø¬ı‰¬1Ì ˝√√˚˛º ˝◊√√˚˛±Ó¬ x=1  ˝√√íÀ˘, y = 4 ¬˝√√˚˛, øfl¡c
x = -2 ˝√√íÀ˘ y=10 ˝√√˚˛º Œ√‡≈›ª± Œ˚ 2y= x2(7+x)

19. The income from salary of Mrs. Barua for the year 2007-08 is Rs.3,20,000.
Arrear payment received Rs.20,000. She pays Rs.208 per month as
professional tax. Home loan repayment Rs.60,000 (interest Rs.25,000
and principal Rs.35,000). Compute the income tax of her, given that the
tax on different slabs for the year was:
(i) Up to Rs.1,80,000 Nil
(ii) From Rs. 1,80,000 to Rs.3,00,000 10%

(iii) From Rs.3,00,000 to Rs.5,00,000 20%
(iv) Education Cess 2%
(v) Secondary and Higher Education Cess 1%
¿˜Ó¬œ ¬ı1n∏ª±1 2007-08 ¬ı¯∏«Ó¬ √1˜˝√√±1 ¬Û1± Œ˝√√±ª± ’±˚˛ 3,20,000 È¬fl¡±º ¬ıÀfl¡˚˛±
¬Û± ˛̊ 20,000 È¬fl¡±º Ê√œøªfl¡± fl¡1 ø√À ˛̊ ̃ ±À √̋√ 208 È¬fl¡±º ·‘̋ √√Ÿ¬Ì ¬Ûø1À˙±Ò√ fl¡À1 60,000
È¬fl¡±, [·‘̋ √√Ÿ¬Ì1 ≈̧Ó¬ 25,000 È¬fl¡± ’±1n∏ ”̃̆ ÒÚ 35,000 È¬fl¡±]º ŒÓ¬›“1 ’± ˛̊fl¡1 øÚÌ«̊ ˛
fl¡1±, ˚ø√ Î¬◊Mê√ ¬ı ∏̄«1 ¬ı±À¬ı fl¡1 øÚ1+¬ÛÚ1 ø¬ıøˆ¬iß ¬Û «̊± ˛̊À¬ı±1 ¤ÀÚ√À1 Ò± «̊ fl¡1± √̋√̊ ˛ -
(i) 1,80,000 È¬fl¡± ¬Û˚«ôL fl¡1 ø√¬ı Ú±˘±À·º
(ii) 1,80,000 È¬fl¡±1¬Û1± 3,00,000 ∆˘ 10%
(iii) 3,00,000 È¬fl¡±1¬Û1± 3,00,000 ∆˘ 20%
(iv) ø˙é¬fl¡1  2%
(v) ˜±Ò…ø˜fl¡ ’±1n∏ Î¬◊2‰¬ ø˙é¬± fl¡1 1%

20. Prove that two opposite angles of a cyclic quadrilateral are supplementary.
4
õ∂˜±Ì fl¡1± Œ˚ ‰¬Sêœ˚˛ ‰¬Ó≈¬ˆ¬≈«Ê√1 ø¬ı¬Û1œÓ¬ Œfl¡±Ú ≈√È¬± ¸•Û”1fl¡º

21. The angles of depressions of the vertex and base of a tower when observed
from the top of a 100 metre high mountain are 30o and 60o. Find the
height of the tower. 4
100 ø˜È¬±1 ¬Û¬ı«Ó¬1 ø˙‡11¬Û1± ô¶y ¤È¬±1 ˙œ¯∏«ø¬ıµ≈ ’±1n∏ &ø11 ¬ÛÓ¬Ú Œfl¡±Ú SêÀ˜
300 ’±1n∏ 600 º ô¶yÀÈ¬±1 Î¬◊2‰¬Ó¬± Î¬◊ø˘›ª±º

22. Find the co-ordinates of the point which divides the line segment formed
by joining the points (x1,y1) and (x2,y2) externally in the ratio m:n. 4
(x1,y1) ’±1n∏ (x2,y2) ø¬ıµ≈ ¸—À˚±·œ Œ1‡±‡Gfl¡ m:n ’Ú≈¬Û±Ó¬Ó¬ ¬ıø˝√√ø¬ı«ˆ¬Mê√ fl¡1±
ø¬ıµ≈1 ¶ö±Ú±—fl¡ øÚÌ«˚˛ fl¡1±º

23. An open tank with a square base contains 19600 litres of water. Find the
cost of painting its inner surface (base and four walls) with lead at Rs.18
per square metre, the height of the tank being 2.5 metres.                  5

114 115
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¬ı·«±fl¡±1 ˆ¬”ø˜ø¬ıø˙©Ü ¤È¬± Î¬◊¬Ûø1ˆ¬±·À‡±˘± Œ‰¬Ã¬ı±2‰¬±Ó¬ 19600 ø˘È¬±1 ¬Û±Úœ ÒÀ1º
˚ø√ Œ‰¬Ã¬ı±2‰¬±ÀÈ¬±1 øˆ¬Ó¬1ˆ¬±·Ó¬ [ˆ¬”ø˜ ’±1n∏ ‰¬±ø1›‡ÚÀ¬ı1Ó¬] ¸œÀ˝√√À1 1— fl¡À1“±ÀÓ¬
õ∂øÓ¬ ¬ı·«ø˜È¬±1Ó¬ 18 È¬fl¡±Õfl¡ ‡1‰¬ ¬ÛÀ1, ŒÓ¬ÀôL ̃ ≈Í¬ ‡1‰¬ øÚÌ«˚˛ fl¡1±, ̊ ø√ Œ‰¬Ã¬ı±2‰¬±ÀÈ¬±1
Î¬◊2‰¬Ó¬± 2.5 ø˜È¬±1 ˝√√˚˛º

24. The median of the following distribution is 49.167. Find the approximate
value of x. 5
¤È¬± Œ|Ìœ1 Â√±S-Â√±Sœ1 ›Ê√Ú1 ¬ı±1—¬ı±1Ó¬± ø¬ıˆ¬±Ê√Ú1 ˜Ò…˜± 49.167 ˝√√íÀ˘ x 1
¸±y±¬ı… ˜±Ú øÚÌ«˚˛ fl¡1±º

Weights (in kg)   
Â[ÝæÃò ¿ßÁÐ ¢¶±Ð] 

35-40 40-45 45-50 50-55 55-60 60-65 65-70 

No. of students  
Â[åÃ±S-åÃ±SÏ1 üÑàÉ±] 

3 7 9 8 5 x 1 

 

*****

116 117

Design of Question Paper
Sub : General Science

Class : X
Time : 3 hours Marks :
80

Weightage of Objectives :

Weightage of Forms of Question :

Objectives Knowledge Understanding Application Skill Total
Percentage of

marks 40% 45% 10% 5% 100

Marks 32 36 8 4 80

Forms of Question LA (4) SA (2.3) VSA (1) O (1) Total

No of Question 3 3(2), 2(19) 18 6 46

Marks allotted 12 6+38 18 6 80
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Distribution of Marks
Sub : General Science

Class : X
Time : 3 hours           Marks : 80

Weightage to content :

Sl.
No.

Chapters (Topic) Marks

1. Life-Processes - Nutrition 04
Nutrition in man
Nutrition in plants

2. Respiration -
Respiration in plants 03

3. Transpiration 02
4. Translocation system

Conduction in plants 03
Circulation in animals

5. Control and Co-ordination
Control and Co-ordination in man 03
Co-ordination in plants

6. Excretion 02

Sl.
No.

Chapters (Topic) Marks

7. Reproduction in animals,
Sexual Reproduction in mammals. 02

8. Heredity and Variation 04
9. Organic Evolution 04
10. Environment 03
11. Wave Motion 05
12. Reflection and Refraction of light. 08
13. Electricity 07
14. Electromagnetism 05
15. Chemical Bonding 05
16. Neutralization and Redox Reactions 04
17. Organic Compounds 04
18. Metals and Metallurgy 06
19. Common Industrial Chemicals and Materials 03
20. Renewable and Non-renewable Sources of Energy 03

                                  Total 80

118 119
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General Science
(Theroy)

Full Marks : 80
Pass Marks : 24
Time : 3 hours
(New Course)

The figures in the margin indicate full marks for the questions
GROUP - A [fl¡ ̇ ±‡±]

1. For each question given below four answers are given. Out of four
only one answer is correct. Select the correct answer:    1x4=4
Ó¬˘1 õ∂øÓ¬ÀÈ¬± õ∂ùü1 ¬ı±À¬ı ‰¬±ø1È¬±Õfl¡ Î¬◊M√√1 ø√˚˛± ’±ÀÂ√º ‰¬±ø1È¬±1 øˆ¬Ó¬1Ó¬ ¤È¬±À˝√√
qX Î¬◊M√√1º qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±º
(i) The wavelength of a longitudinal wave is λ . The distance

between two consecutive compression and rarefaction is –
’Ú≈Õ√‚«… Ó¬1—· ¤È¬±1 Ó¬1—· ∆√‚…« λ º Ó¬1—·ÀÈ¬±1 ≈√È¬± ’Ú≈Sêø˜fl¡ õ∂¸±1Ì
’±1n∏ ¸—Àfl¡±‰¬Ú1 ˜±Ê√1 ”√1Q ˝√√í˘ ñ
(a) λ          (b) 2

λ      (c) 2λ (d) 1
λ

(ii) When blue litmus is added to dilute HCL the colour of the
solution  –

¬ ¬ÛÚœ˚˛± HCL ^ªÓ¬ Úœ˘± ø˘È¬˜±Â√ Œ˚±· fl¡ø1À˘ ^ªÀÈ¬±
(a) becomes colourless [¬ı1Ì˝√√œÚ ˝√√˚˛]  (b) turns red  [1„√√± ˝√√˚˛]
(c) remains blue [Úœ˘± ∆ √̋√À˚̨ Ô±Àfl¡] (d) turns green [Œ¸Î¬◊Ê√œ˚̨± √̋√̊ ]̨

(iii)Which of the following products is not obtained in  fractional
distillation of petroleum?
Œ¬Û¬∏Cø˘ ˛̊±˜1 ’±—ø˙fl¡ ¬Û±Ó¬ÚÓ¬ Ó¬˘1 Œfl¡±Úø¬ıÒ Î¬◊¬ÛÊ√±Ó¬ ̂ ¬ı… Î¬◊»¬Ûiß Ú˝√√ ˛̊∑
(a) Gasoline (b) Natural gas  (c) Kerosene   (d) Fuel Oil

¬       Œ·Â√ø˘Ú      õ∂±fl‘¡øÓ¬fl¡ Œ·Â√ Œfl¡1±ø‰¬Ú           ˝◊√√gÚ ŒÓ¬˘
(iv) An object is placed at a distance of 20 cm in front of a convex

mirror. The image is formed  at 10 cm behind the mirror.
The magnification of the image is
¤‡Ú Î¬◊M√√˘ √±À¬Û±Ì1 ̧ ij≈‡Ó¬ √±À¬Û±Ì1 ¬Û1± 20 ŒÂ√ø˜ ”√1QÓ¬ ¤È¬± ̆ é¬…¬ıd
1‡± ∆˝√√ÀÂ√º √±À¬Û±Ì1 ø¬ÛÂ√Ù¬±À˘ √±À¬Û±Ì1 ¬Û1± 10 ŒÂ√ø˜ ”√1QÓ¬ õ∂øÓ¬ø¬ı•§1
·Í¬Ú ∆˝√√ÀÂ√º õ∂øÓ¬ø¬ı•§1 ø¬ı¬ıÒ«Ú ñ
(a) 1

2 (b) -2    (c) 2      (d) - 1
2

2. (a) Do waves carry any part of the medium as they progress?
Ilustrate your answer with an example.    2
Ó¬1—·˝◊√√ ·øÓ¬ fl¡À1±ÀÓ¬ ˜±Ò…˜1 Œfl¡±ÀÚ± ’—˙  ˘·ÀÓ¬ fl¡øÏ¬ˇ˚˛±˝◊√√ øÚÀ˚˛ÀÚ∑
¤È¬± Î¬◊√±˝√√1Ì1 ∆¸ÀÓ¬ ¬ı≈Ê√±˝◊√√ ø˘‡±º

(b) A ship sends down a sound signal and receives its echo 10
seconds later. Calculate the depth of the sea if the speed of
sound in sea water is 1600m/sec.   2
Ê√±˝√√±Ê√ ¤‡Ú1 ¬Û1± Ó¬˘Õ˘ ˙s ¸—Àfl¡Ó¬ ¤È¬± Œõ∂1Ì fl¡1±1 10 ŒÂ√Àfl¡G1
ø¬ÛÂ√Ó¬ ¸—Àfl¡Ó¬1 õ∂øÓ¬Ò√ıøÚ Ò1± ¬Ûø1˘º ¸±·11 ¬Û±ÚœÓ¬ ˙s1 ¬^nøÓ¬ 1600
ø˜˚ŒÂ√  ˝√√íÀ˘, ¸±·11 ·ˆ¬œ1Ó¬± øÚÌ«˚˛ fl¡1±º

Or/’Ô¬ı±
An oscillator with a frequency of 50Hz is used to generate
waves in water. It is observed that the waves travel 5m in 1
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second. Find the distance travelled by the waves when the
oscillator completes 10 vibrations.   2
50 ˝√√±Ê«√ fl¡•ÛÚ±—fl¡1 Î¬◊»¸ ¤È¬±˝◊√√ ¬Û±ÚœÓ¬ Ó¬1—·1 ¸‘ø©Ü fl¡ø1ÀÂ√º Œ√‡±
·í˘ Œ˚, ¤˝◊√√ Ó¬1—·À¬ı±À1 1 ŒÂ√Àfl¡GÓ¬ 5 ø˜ ”√1Q ’øÓ¬Sê˜ fl¡À1º
Î¬◊»¸ÀÈ¬±Àª 10 È¬± Œ√±˘Ú ¸•Û”Ì« fl¡ø1¬ıÕ˘ õ∂À˚˛±Ê√Ú Œ˝√√±ª± ¸˜˚˛1 øˆ¬Ó¬1Ó¬
Ó¬1—·À¬ı±À1 øfl¡˜±Ú ”√1 ’¢∂¸1 ˝√√í¬ı Î¬◊ø˘›ª±∑

3. (a) In the case of a plane mirror, prove that object distance =
image distance.    2
¸˜Ó¬˘ √±À¬Û±Ú1 Œé¬SÓ¬ õ∂˜±Ú fl¡1± Œ˚ ˘é¬…¬ıd1 ”√1Q ‘ õ∂øÓ¬ø¬ı•§1
”√1Qº

(b) Draw a ray diagram to illustrate the formation of a real and
magnified image by concave mirror.   2
’ªÓ¬˘ √±À¬Û±ÚÓ¬  ¸» ’±1n∏ ø¬ı¬ıøÒ«Ó¬ õ∂øÓ¬ø¬ı•§1 ·Í¬Ú 1øù¨ ø‰¬S ’—fl¡Ú
fl¡ø1 Œ√‡≈›ª±º

(c) An object is placed at a distance of  20cm in front of a convex
lens of focal length 10 cm. Find the location of the image.1
10 ŒÂ√ ø˜ Ù¬ífl¡±Â√ ”√1Q1 Î¬◊M√√˘ Œ˘ÚƒÂ√ ¤‡Ú1 ¸ij≈‡Ó¬ Œ˘ÚƒÂ√1 ¬Û1± 20
ŒÂ√ø˜ ’“±Ó¬1Ó¬ ˘é¬… ¬ıd ¤È¬± ’±ÀÂ√º õ∂øÓ¬ø¬ı•§1 ’ª¶ö±Ú Î¬◊ø˘›ª±º

Or/’Ô¬ı±
An object is placed at a distance of 10 cm in front of a
concave lens of focal length 20 cm. Locate the image.   1
20 ŒÂ√.ø˜. Ù¬ífl¡±Â√ ∆√‚«…1 ’ªÓ¬˘ Œ˘ÚƒÂ√ ¤‡Ú1 ¸ij≈‡Ó¬ Œ˘ÚƒÂ√1 ¬Û1± 10
ŒÂ√. ø˜. ’“±Ó¬1Ó¬ ¤È¬± ̆ é¬… ¬ıd ŒÔ±ª± ∆˝√√ÀÂ√º õ∂øÓ¬ø¬ı•§1 ’ª¶ö±Ú Î¬◊ø˘›ª±º

(d) Why is the sky blue?    2
’±fl¡±˙1 1— øfl¡ ˛̊ Úœ˘±∑

4. (a) In the given figure calculate the total resistance of the circuit.
   2

 ø‰¬SÓ¬ Œ√‡≈›ª± ¬ıÓ«¬ÚœÀÈ¬±1 ˜≈Í¬ Œ1±Ò ·ÌÚ± fl¡1±º

(b) Two point-like charges carrying charges of +
.
001C and - 

.
01C

are 10 cm apart in air. Determine the magnitude of the force
between them and state whether it is attractive or repulsive.  3
Ÿ¬
.
001 fl≈¡ ’±1n∏ -

.
01 fl≈¡ ’±Ò±Ú ø¬ıø˙©Ü ¬ı±˚˛≈Ó¬ 1‡± ≈√È¬± ø¬ıµ≈¸˜ ’±Ò±Ú1

˜±Ê√1 ”√1Q 10 ŒÂ√ ø˜º ’±Ò±Ú ≈√È¬±1 ˜±Ê√Ó¬ Ôfl¡± ¬ı˘1 ˜±Ú øÚÌ«˚˛ fl¡1±
’±1n∏ ¬ı˘ÀÈ¬± ’±fl¡¯∏«fl¡ ŒÚ ø¬ıfl¡¯∏«fl¡ øÚÌ«˚˛ fl¡1±º

Or/’Ô¬ı±
Two small spheres 25cm apart and having equal negative
charges repel each other with a force of 6 x 10-3 N. What is
the total charge on the two bodies?    3
25 ŒÂ√ ø˜ ”√1QÓ¬  ¸˜¬Ûø1˜±Ì1 Ÿ¬Ì±Rfl¡ ’±Ò±Ú Ôfl¡± ≈√È¬± ¸1n∏ Œ·±˘Àfl¡
◊̋√√ÀÈ¬±Àª ø¸ÀÈ¬±fl¡√ 6 x 10-3 øÚÎ¬◊È¬Ú ¬ıÀ˘À1 ø¬ıfl¡ ∏̄«Ì fl¡À1º Œ·±˘fl¡ ≈√È¬±1 ≈̃Í¬

’±Ò±Ú1 ¬Ûø1˜±Ì øfl¡˜±Ú∑
(c) How much charge flows through a wire in 1 minute if it

carries a currect of 5A?    1
5 ¤ø•Û˚˛±1 õ∂¬ı±˝√√ ‰¬±ø˘Ó¬ Ó¬“±1 ¤Î¬±˘1 ˜±ÀÊ√ø√ 1 ø˜øÚÈ¬Ó¬ øfl¡˜±Ú ’±Ò±Ú1
¸=±˘Ú ˝√˚˛∑

(d) Fill in the blanks [‡±˘œ Í¬±˝◊√√ ¬Û”1Ì fl¡1±]    1
(i) A positive charge experience a force in the ____ direction

of the electric field.
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¤‡Ú ∆¬ı≈√…øÓ¬fl¡ Œé¬SÓ¬ ¤È¬± ÒÚ±Rfl¡ ’±Ò±ÀÚ Œé¬S1 ññ ø√˙Ó¬ ¬ı˘
’Ú≈ˆ¬ª fl¡À1º

(ii) Electric potential is a _____ quantity.
 ∆¬ı≈√…øÓ¬fl¡ ø¬ıˆ¬ª ¤È¬± ñññ 1±ø˙º

5. (a) What is a solenoid? How can you convert a piece of iron into
a magnet? State the factors on which the strength of an
electromagnet depends .          1+1  +1  =4
Â√À˘Ú ˛̊Î¬ øfl¡∑ Œ˘±1 È≈¬fl≈¡1± ¤È¬±fl¡ øfl¡√À1 ‰≈¬•§fl¡Õ˘ ¬Ûø1¬ıÓ«¬Ú fl¡ø1¬ı ¬Û±ø1¬ı±∑
ø¬ı≈√…Ó¬ ‰≈¬•§fl¡ ¤Î¬±˘1 õ∂¬ı˘Ó¬± øfl¡ øfl¡ fl¡±1fl¡1 ›¬Û1Ó¬ øÚˆ«¬1 fl¡À1 ø˘‡±º

(b) Distinguish between microphone and loudspeaker.    1
˜±˝◊√√SêíÀÙ¬±Ú ’±1n∏ ˘±Î¬◊Î¬ø¶Ûfl¡±11 ˜±Ê√1 ¬Û±Ô«fl¡… ø˘‡±º

6. (a) What is the cause of inertness of the noble gases?    1
¸z±ôL Œ·Â√À¬ı±11 øÚ©ç¡œ˚˛Ó¬±1 fl¡±1Ì øfl¡∑

(b) Explain the formation of NaCl with the help of electron-
dot-digrams.    2
˝◊√√À˘fl¡¬∏CÚ-Ù≈¬È¬-ø‰¬S1 ¸˝√√±˚˛Ó¬ NaCl ’Ú≈1 ·Í¬Ú ¬ı±‡…± fl¡1±º

Or/’Ô¬ı±
Explain the formation of H2O with the help of electron-dot-
digram.    2
˝◊√√À˘fl¡¬∏CÚ-Ù≈¬È¬-ø‰¬S1 ¸˝√√±˚˛ ∆˘ H2O ’Ú≈1 ·Í¬Ú ¬ı±‡…± fl¡1±º

(c) Give two differences between ionic and covalent
compounds.    2
’±˚˛Úœ˚˛ ’±1n∏ ¸˝√√À˚±Ê√œ Œ˚Ã·1 ˜±Ê√1 ≈√È¬± ¬Û±Ô«fl¡… ø˘‡±º

7. (a) What are the products of the following reactions? Balance
the equations :–    2

Ó¬˘Ó¬ ø√˚˛± ø¬ıøSê˚˛±Àfl¡˝◊√√È¬±Ó¬ øfl¡ øfl¡ Î¬◊»¬Ûiß ˝√√í¬ı∑ ¸˜Ó≈¬˘ ¸˜œfl¡1Ì ø˘ø‡¬ı±–-
(i)  Zn+H2SO4 

→

(ii) CaCO3+HCL→
(b) Identify the acids and bases from the following compounds

(any two) ––     1
2 × 2=1

Orange Juice, Soap Sloution, Sour milk, Baking powder.
Ó¬˘Ó¬ ø√˚˛± ¬Û√±Ô«À¬ı±11 ¬Û1± ’•° ’±1n∏ é¬±1fl¡À¬ı±1 ¬ı±øÂ√ Î¬◊ø˘›ª±
[ø˚Àfl¡±ÀÚ± ≈√È¬±]
fl¡˜˘±1 1¸, ‰¬±À¬ı±Ú ¬Û±Úœ, Ù¬È¬± ·±‡œ1, Œ¬ıøfl¡— ¬Û±Î¬◊√±1º

8. (a) What are functional groups? Give one example.    2
 fl¡±˚«…fl¡1œ˜”˘fl¡À¬ı±1 øfl¡∑ ¤È¬± Î¬◊√±˝√√1Ì ø√˚˛±º

(b) Why does carbon show tetracovalency?    2
fl¡±¬ı«ÀÚ øfl¡˚˛ ‰¬Ó≈¬¸«˝√√À˚±Ê√œÓ¬± Œ√‡≈ª±˚˛∑

9. (a) How is Zinc Spelter obtained from Zinc blende by the vertical
report process? Illustrate with a diagram.    4
øÔ˚˛ ø1È¬È«¬ ¬ÛXøÓ¬À1 ø˚—fl¡ Œ¬ıvG1 ¬Û1± Œ¶ÛåI◊±1 Œfl¡ÀÚ√À1 Î¬◊»¬Û±√Ú fl¡1±
˝√√˚˛∑ ø‰¬S ’“±øfl¡ ¬ı≈Ê√±˝◊√√ ø˘‡±º

(b) What are the four major steps invloved in the extraction of a
metal from its ore?    2
Ò±Ó≈¬ ¤È¬±fl¡ ◊̋√ ˛̊±1 ’±fl¡11 ¬Û1± øÚ©®±˙Ú fl¡1± õ∂Ò±Ú ‰¬±ø1È¬± ‡±¬Û øfl¡ øfl¡∑

10. (a) Mention any two ill effects of overuse of pesticides in
agriculture?    2
fl‘¡ø ∏̄fl¡± «̊…Ó¬ fl¡œÈ¬Ú±˙fl¡ ̂ ¬ı…1 ’Ó¬…±øÒfl¡ ¬ı…ª √̋√±11 ø˚Àfl¡±ÀÚ± ≈√È¬± fl≈¡-õ∂̂ ¬±ª Î¬◊À~‡
fl¡1±º

(b) Why the glass objects are allowed to cool from high
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temperature very slowly?    1
øfl¡ fl¡±1ÀÌ fl“¡±‰¬1 ¬ıdÀ¬ı±1fl¡ Î¬◊2‰¬ Î¬◊̄ ûÓ¬±1 ¬Û1± ’øÓ¬ ˘±À √̋√ ˘±À √̋√ Œ‰“¬‰¬± fl¡1± √̋√̊ ∑̨

11. What is Bio-gas? What are its uses?    2
∆Ê√ª Œ·Â√ øfl¡∑ ˝◊√√˚˛±1 ¬ı…ª˝√√±1À¬ı±1 øfl¡∑

Or/’Ô¬ı±
What are the main drawbacks of using fossil fuels?    2
Ê√œª±ù¨ ˝◊√√gÚ ¬ı…ª˝√√±1 fl¡1± õ∂Ò±Ú ’¸≈ø¬ıÒ± ¸˜”˝√√ øfl¡∑

GROUP-B [‡-˙±‡±]

12. (a) For each question given below four answers are given. Out
of four only one answer is correct. Select the correct
answer.      1x2=2
Ó¬˘1 õ∂øÓ¬ÀÈ¬± õ∂ùü1 ¬ı±À¬ı ‰¬±ø1È¬± Î¬◊M√√1 ø√˚˛± ’±ÀÂ√º ‰¬±ø1È¬±1 øˆ¬Ó¬1Ó¬
¤È¬±À˝√√ qX Î¬◊M√√1º qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±º

(i) The hormone which help in cell division of plants is :–
Î¬◊øæ√√1 Œfl¡±¯∏ ø¬ıˆ¬±Ê√Ú õ∂øSê˚˛±Ó¬ ¸˝√√±˚˛ fl¡1± ˝√√1˜íÚø¬ıÒ –ñ
(a) Gibberellin [øÊ√¬ı±À1ø˘Ú]  (c) Auxin [’ø'Ú]
(b) Cytokinin [Â√± ◊̋√√È¬ífl¡± ◊̋√√øÚÚ]  (d) Abscisic Acid [¤¬ıøÂ√øÂ√fl¡ ¤ø‰¬Î¬]

(ii) To control ozone layer depletion we should control:
’íÊ√íÚ ô¶11 ’ªé¬˚˛ øÚ˚˛LaÌ fl¡ø1¬ıÕ˘ ’±ø˜ øÚ˚˛LaÌ fl¡ø1¬ı ˘±ø·¬ı
(a)  use of Chlorofluoro carbon.
      √flv¡1íÙ¬1í fl¡±¬ı«Ú1 ¬ı…ª˝√√±1
(b)  use of industrial chemicals

       fiÀ√…±ø·fl¡ 1±¸±˚˛øÚfl¡ ¬Û√±Ô«1 ¬ı…ª˝√√±1
(c)  use of chemical fertilizers
       1±¸±˚˛øÚfl¡ ¸±11 ¬ı…ª˝√√±1
(d)  all of the above.

›¬Û11 ’±È¬±˝◊√√Àfl¡˝◊√√È¬±º
13. Answer the following questions :      1x 3=3

Ó¬˘1 õ∂ùüÀ¬ı±11 Î¬◊M√√1 fl¡1± –
(a) What is the name of the photosynthetic pigment found in

blue green algae?
Úœ˘ Œ¸Î¬◊Ê√ Œ˙˘± ◊̋√√Ó¬ Ôfl¡± ¸±À˘±fl¡ ¸—Àù≠̄ ∏Ìfl¡±1œ 1?fl¡ ¬Û√±Ô«ø¬ıÒ1 Ú±˜ øfl¡∑

(b) Write the name of the white blood corpuscle which produces
antibody.
¤øKI◊¬ıÎ¬œ ‘̧ø©Ü fl¡1± Œù´Ó¬fl¡øÌfl¡±ø¬ıÒ1 Ú±˜ ø˘‡±º

(c) What are the two main parts of nephron?
ŒÚÙË¬Ú1 õ∂Ò±Ú ’—˙ ≈√È¬± øfl¡∑

14. (a) Write briefly the significance of nutrition.    2
¬Ûø1¬Û≈ø©Ü1 &1n∏Q ‰¬˜≈Õfl¡ ø˘‡±º

(b) What is the difference on the mode of nutrition between
Rafflesia and Nepenthes?    1
1±ÀÙv¬øÂ√˚˛± ’±1n∏ fl¡˘‰¬œ Î¬◊øæ√√1 ¬Ûø1¬Û≈ø©Ü1 Î¬◊¬Û±˚˛1 ˜±Ê√1 ¬Û±Ô«fl¡… øfl¡∑

15. What is the cause of muscle fatigue at the time of
excessive physical labour? Write the reaction involved in
the process.      2+1=3
’øÓ¬ø1Mê√ ˙±1œø1fl¡ ¬Ûø1|˜1 ¸˜˚˛Ó¬ Œ¬Û˙œ ’ª¸±√¢∂ô¶ Œ˝√√±ª±1 fl¡±1Ì
øfl¡∑ ¤˝◊√√ õ∂øSê˚˛±1 ˘·Ó¬ Ê√øÎ¬ˇÓ¬ ø¬ıøSê˚˛±ÀÈ¬± ø˘‡±º
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16. (a) Fill in the blanks :    1
‡±˘œ Í¬±˝◊√√ ¬Û”Ì« fl¡1± –
Excess of transpiration retards the natural ___ and ___ of
plants.
’øÓ¬ø1Mê√ õ∂À¶§√ÀÚ Î¬◊øæ√√1 ¶§±ˆ¬±øªfl¡ ññ ’±1n∏ ññ ¬ı±Ò±¢∂ô¶ fl¡À1º

(b) State one reason ___ why transpiration is beneficial.    1
õ∂À¶§√Ú øfl¡˚˛ Î¬◊¬Ûfl¡±1œ õ∂øSê˚˛± ñ ¤È¬± fl¡±1Ì ø˘‡±º

17. Draw a diagram of the internal structure of human heart and
labell the main arteries and veins.   2
˜±Ú≈˝√√1 ˝√√+√ø¬ÛG1 ’±ˆ¬…ôL1œÌ ·Í¬Ú1 ¤È¬± ø‰¬S ’“±øfl¡ õ∂Ò±Ú ø¸1± ’±1n∏
Ò˜Úœ ø‰¬ø˝êÓ¬ fl¡1±º

Or/’Ô¬ı±
Draw a labelled diagram of capillary network.    2
1Mê√Ê√±ø˘fl¡±1 ¤È¬± ø‰¬ø˝êÓ¬ ø‰¬S ’“±fl¡±º

18. What is reflex action? Give one example.    2
õ∂Ó¬œ¬Û øSê˚˛± fl¡±fl¡ Œ¬ı±À˘∑ ¤È¬± Î¬◊√±˝√√1Ì ø√˚˛±º

19. Why is it essential to eliminate. ammonia from the body as soon
as it is produced?    1
¤˜íøÚ˚˛± ¸‘ø©Ü Œ˝√√±ª±1 ˘À· ˘À· Œ√˝√√1 ¬Û1± ¬ıÊ«√Ú fl¡1±ÀÈ¬± øfl¡˚˛ øÚÓ¬±ôL˝◊√√

õ∂À˚˛±Ê√Ú∑
20. (a) What is reproductive health?    1

õ∂Ê√ÚÚ ¶§±¶ö… øfl¡∑
(b) Why Adolescence Education is important during adolescent

stage? State one reason.    1
∆fl¡À˙±1 √˙±Ó¬ ∆fl¡À˙±1 ø˙é¬±1 øfl¡˚˛ õ∂À˚˛±Ê√Ú∑ ¤È¬± fl¡±1Ì Î¬◊À~‡ fl¡1±º

21. (a) What is heredity?    1
¬ı—˙·øÓ¬ øfl¡∑

(b) What is the difference between dominant character and
recessive character?    1
õ∂ˆ¬±ªœ ˘é¬Ì ’±1n∏ ’õ∂ˆ¬±ªœ ˘é¬Ì1 ˜±Ê√1 õ∂Àˆ¬√ øfl¡∑

(c) Gene is said to be carrier of hereditary characters. Explain
the statement with justification.    2
øÊ√Úfl¡ ¬ı—˙·øÓ¬ ‰¬ø1S1 ¬ı±˝√√fl¡ ¬ı≈ø˘ Œfl¡±ª± ˝√√˚˛º Î¬◊øMê√ÀÈ¬±1 ˚≈øMê√˚≈Mê√Ó¬±
¬ı…±‡…± fl¡1±º

22. Name two vestigeal organs found in human being. Explain the
basis on which the theory of Lamarck was established.      1+3=4
˜±Ú≈˝√√1 ˙1œ1Ó¬ Œ¬Û±ª± ≈√È¬± ˘≈5õ∂±˚˛ ’—·1 Ú±˜ ø˘‡±º Œ˘˜±fl«¡1 ˜Ó¬¬ı±√ÀÈ¬± øfl¡
˜”˘ øˆ¬øM√√1 ›¬Û1Ó¬ ¬õ∂øÓ¬øá¬Ó¬ ¬ı≈Ê√±˝◊√√ ø˘‡±º

23. Are big dams necessary? Justify your answer.    2
¬ı‘˝√√» fl‘¡øS˜ ¬ı±g1 õ∂À˚˛±Ê√Úœ˚˛Ó¬± ’±ÀÂ√ ŒÚ∑ ŒÓ¬±˜±1 ˜Ó¬±˜Ó¬1 ¸¬ÛÀé¬ ˚≈øMê√
Œ√‡≈›ª±º

Or/’Ô¬ı±
Why are natural resources  important component of
environment?    2
õ∂±fl‘¡øÓ¬fl¡ ¸•Û√¸˜”˝√√ ¬Ûø1À¬ı˙1 øfl¡˚˛ ¤fl¡ ˘±·øÓ¬˚˛±˘ Î¬◊¬Û±√±Ú∑

130 131



(       ) (       )
14

Model Question Paper
Sub : Hindi4

Class : X
Time : 3 hours F.M.-100, Pass Mark-30

Group A (50 Marks)
1. ¬ÍáÊ¸ flÊÄÿ ◊¢ ©UàÃ⁄U ŒÊ — 1x7=7

(∑§) ’«∏U ‚Ê„U’ Ÿ ŸÊ⁄UŒ ∑§Ê ÷Ê‹Ê⁄UÊ◊ ∑§ Œ⁄UπÊSÃÊ¢ ¬⁄U fl¡Ÿ
⁄UπŸ ∑§Ë ‚‹Ê„U ŒË– ÿ„U°Ê ‘fl¡Ÿ’ ‡ÊéŒ ‚ ÄÿÊ ’Êœ „UÊÃÊ
„UÒ?

(π) ‘‚«∏U∑§ ∑§Ë ’ÊÃ’ ¬Ê∆U ∑§ ‹π∑§ ∑§ÊÒŸ „UÒ¢?
(ª) ∑§Áfl ∑§ •ŸÈ‚Ê⁄U ªÈL§ ∑È§ê„UÊ⁄U „UÒ ÃÊ Á‡Êcÿ ÄÿÊ „UÒ?
(ÉÊ) ∑§’Ë⁄U ∑§Ë ÷Ê·Ê ∑§Ê ÄÿÊ ŸÊ◊ ÁŒÿÊ ªÿÊ „UÒ?
(æU) ∑§Áfl ÁŒŸ∑§⁄U ∑§ •ŸÈ‚Ê⁄U ∑§‹◊ Á∑§‚∑§Ê ¬˝ÃË∑§ „UÒ?
(ø) ⁄UÊÒŒ •ÊÒ⁄U ¡ÊÃ ¡ÊŸ ¬⁄U Á◊^Ë ÷Ë Á∑§‚ M§¬ ◊¢ ’Œ‹ ¡ÊÃË

„UÒ?
(¿U) Á◊^Ë ∑§Ê Áπ‹ÊÒŸÊ ◊ÎÁàÃ∑§Ê ∑§Ê ∑§ÊÒŸ-‚Ê ¬Á⁄UflÁÃ̧Ã M§¬ „UÒ?

2. ‚¬˝‚¢ª √ÿÊÅÿÊ ∑§⁄UÊ — 5

◊Ê‹Ê »§⁄UÃ ¡Èª ÷ÿÊ, Á»§⁄UÊ Ÿ ◊Ÿ∑§Ê »§⁄U–
∑§⁄U∑§Ê ◊Ÿ∑§Ê «UÊÁ⁄U Œ, ◊Ÿ ∑§Ê ◊Ÿ∑§Ê »§⁄U––

•ÕflÊ
’È⁄UÊ ¡Ê ŒπŸ ◊Ò¢ ø‹Ê, ’È⁄UÊ Ÿ Á◊Á‹ÿÊ ∑§Êÿ–
¡Ê ÁŒ‹ πÊ¡Ê •Ê¬ŸÊ, ◊È¤Ê-‚Ê ’È⁄UÊ Ÿ ∑§Êÿ––

3. ‚¢ˇÊ¬ ◊¢ ©UàÃ⁄U ŒÊ — 3+3+3+3+3+3=18

(∑§) ‘•Ê¡ ÃÈê„UÊ⁄UÊ π‹ ¡◊Ê Ÿ„UË¢–’ - ß‚ ¬˝‡Ÿ ∑§ ©UàÃ⁄U ◊¢
¿UÊ≈UÊ ¡ÊŒÈª⁄U Ÿ ÄÿÊ ∑§„UÊ?

(π) üÊË◊ÃË ∑§ •Êª˝„U ¬⁄U ¿UÊ≈U ¡ÊŒÍª⁄U Ÿ Á∑§‚¬˝∑§Ê⁄U •¬ŸÊ
π‹ ÁŒπÊÿÊ?

(ª) ÷Ê‹Ê⁄UÊ◊ ∑§Ë ¬ÊÁ⁄UflÊÁ⁄U∑§ ÁSÕÁÃ ¬⁄U ¬˝∑§Ê‡Ê «UÊ‹Ê–
(ÉÊ) ‘◊Ò¢ Á∑§‚Ë ∑§Ê ÷Ë ‹ˇÿ Ÿ„UË¢ „UÍ°–’- ‚’∑§Ê ©U¬Êÿ ◊ÊòÊ „UÍ°–

- ‚«∏U∑§ Ÿ ∞‚Ê ÄÿÊ¢ ∑§„UÊ „UÒ?
(æU) ‚ÈãŒ⁄U ‡ÿÊ◊ ∑§Ê •¬Ÿ ÉÊ⁄U •ÊŸ ∑§Ê •Ê◊¢òÊáÊ ŒÃ „ÈU∞

∑§flÁÿòÊË Ÿ ©UŸ‚ ÄÿÊ ∑§„UÊ „UÒ?
(ø) ‘•¢œ ∑§ˇÊ ◊¢ ’Ò∆U ⁄UøÊª ™°§ø ◊Ë∆U ªÊŸ’ - ∑§Ê •Ê‡Êÿ S¬c≈U

∑§⁄UÊ–
4. ‹π∑§ Ÿ ∑¢§ªÍ⁄U ∑§ ªËÃ ªÊŸ ∑§ ’¡Êÿ ŸËfl¢ ∑§ ªËÃ ªÊŸ ∑§ Á‹∞
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ÄÿÊ¢ •Ê„ŨflÊŸ Á∑§ÿÊ „UÒ? 4

•ÕflÊ
‘‚ÈãŒ⁄U ‚ÎÁc≈U „U◊‡ÊÊ ’Á‹ŒÊŸ πÊ¡ÃË „UÒ - ’Á‹ŒÊŸ ß¸≈¢U ∑§Ê „UÊ ÿÊ
√ÿÁÄÃ ∑§Ê–’ - •Ê‡Êÿ S¬c≈U ∑§⁄UÊ–

5. (∑§) Á∑§ã„UË¢ ŒÊ ◊È„UÊfl⁄UÊ¢ ‚ flÊÄÿ ’ŸÊ•Ê —U 1+1=2

ŸÊÒ ŒÊ ÇÿÊ⁄U„U „UÊŸÊ, ÉÊ«∏UË ‚◊Ë¬ „UÊŸÊ, üÊËªáÊ‡Ê ∑§⁄UŸÊ,
ŒÊ‹ Ÿ ª‹ŸÊ

(π) Á∑§ã„UË¢ øÊ⁄U ∑§ SòÊËÁ‹¢ª M§¬ Á‹πÊ — ½+½+½+½=2

∆UÊ∑È§⁄U, ∑§Áfl, Ÿ⁄U∑§ÊÒ•Ê, •Á÷ŸÃÊ, „UÊÕË, ªÊÿ∑§, ‚◊˝Ê≈U
(ª) Á∑§ã„UË¢ ŒÊ ∑§ ‚¢Áœ ∑§⁄UÊ — 1+1=2

‚Ã˜ + •ÊøÊ⁄, ∞∑§ + ∞∑§, ⁄U◊Ê + ß¸‡Ê, Ã¬—+ flŸ
(ÉÊ) Á∑§ã„UË¢ øÊ⁄U ∑§ Áfl‹Ê◊ (Áfl¬⁄UËÃÊÕ¸∑§) ‡ÊéŒ Á‹πÊ —U

½+½+½+½=2

∑§∆UÊ⁄U, ÁŸÿ¸ÊÃ, ¬˝∑§Ê‡Ê, •Ê‡ÊÊ, ‚ªÈáÊ, flË⁄U, ãÿÊÿ
(æU) ÁŸêŸ¢ÊÁ∑§Ã ©U¬‚ªÊ̧/¬˝àÿÿÊ¢ ∑§Ê ¡Ê«∏U∑§⁄U ∞∑§-∞∑§ ‡ÊéŒ

’ŸÊ•Ê — ½+½+½+½=2

•Á÷, ¬⁄UÊ, •ŸËÿ, •Êfl≈U
(ø) •Ÿ∑§ ‡ÊéŒÊ¢ ∑§ Á‹∞ ∞∑§ ‡ÊéŒ Á‹πÊ — ½+½+½+½=2

¡Ê ◊Ê¢‚ πÊÃÊ „UÊ, •Ê∑§Ê‡Ê ◊¢ Áflø⁄UŸflÊ‹Ê, ¡Ê ÁŒπÊß¸

Ÿ Œ, Á‡Êfl ∑§Ê ©U¬Ê‚∑§
(¿UU) Á∑§ã„UË¢ ŒÊ ∑§ ¬ÿÊ¸ÿflÊøË ‡ÊéŒ Á‹πÊ — 1+1=2

„UflÊ, ¬ÈSÃ∑§, •Ê∑§Ê‡Ê, ∑§◊‹, ŒÈ—π
(¡U) Á∑§ã„UË¢ ŒÊ flÊÄÿÊ¢ ∑§Ê ‡ÊÈh ∑§⁄UÊ — 1+1=2

(i) •Ê¬ ÿ„U°Ê ◊Ã ’Ò∆UÊ  (ii) ‚ËÃÊ Ÿ ªËÃ ªÊß¸
(iii) ⁄U◊Ÿ Ÿ ⁄UÊ≈UË πÊÿÊ (iv) üÊË∑Î§cáÊ ∑§ •Ÿ∑§Ê¢ ŸÊ◊ „UÒ–

Group B (50 Marks)

6. ¬ÍáÊ¸ flÊÄÿ ◊¢ ©UàÃ⁄U ŒÊ — 1+1+1+1+1+1=6

(∑§) ◊„UÊŒflË fl◊¸Ê ¡’ ◊Ê⁄U ∑§ ŒUÊŸÊ¢ ’ìÊÊ¢ ∑§Ê¢ ÉÊ⁄U ‹Êß¸ ÃÊ
‚÷Ë ÄÿÊ ∑§„UŸ ‹ª?

(π) ÁflŒ‡ÊË ◊Á„U‹Ê Ÿ ŸË‹∑¢§∆U ∑§Ê ÄÿÊ ©U¬ÊÁœ ŒË ÕË?
(ª) ª°ÊflÊ¢ ÿÊ ª⁄UË’ ’ÁSÃÿÊ¢ ◊¢ Áø≈U˜∆UË ÿÊ ◊ÁŸ•ÊÚ«¸U⁄U ‹∑§⁄U

¬„ÈU°øŸ flÊ‹ «UÊÁ∑§ÿ ∑§Ê ‹Êª Á∑§‚ M§¬ ◊¢ ŒπÃ „UÒ¢?
(ÉÊ) ¬òÊ ∑§Ê ∑§ãŸ«∏U ÷Ê·Ê ◊¢ ÄÿÊ ∑§„UÃ „UÒ¢?
(æU) ‘¡Ê ’ËÃ ªß¸’ ∑§ÁflÃÊ ◊¢ ∑§Áfl Ÿ ’ËÃË ’ÊÃÊ¢ ∑§Ê ÷Í‹∑§⁄U

Á∑§‚∑§Ë ÁøãÃÊ ∑§⁄UŸ ∑§Ê ‚¢Œ‡Ê ÁŒÿÊ „UÒ?
(ø) ‘∑§Êÿ⁄U ◊Ã ’Ÿ’ ∑§ÁflÃÊ ∑§ ∑§Áfl ∑§ÊÒŸ „UÒ?
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7. ‚¢ˇÊ¬ ◊¢ ©UàÃ⁄U ŒÊ — 3+3+3+3=12

(∑§) fl‚¢Ã ´§ÃÈ ◊¢ ŸË‹∑¢§∆U ∑§ Á‹∞ ¡Ê‹ËÉÊ⁄U ◊¢ ’¢Œ ⁄U„UŸÊ
•‚„UŸËÿ „UÊ ¡ÊÃÊ ÕÊ ÄÿÊ¢?

(π) ¬òÊ ¡Ò‚Ê ‚¢ÃÊ· ∞‚ ∞◊ ∞‚ ∑§Ê ‚¢Œ‡Ê ÄÿÊ¢ Ÿ„UË¢ Œ ‚∑§ÃÊ?
(ª) ‘¡Ê ◊ÊŒ∑§ÃÊ ∑§ ◊Ê⁄UU „UÒ¢, fl ◊œÈ ‹Í≈UÊ „UË ∑§⁄UÃ „UÒ¢–’ - ß‚∑§

mÊ⁄UÊ ∑§Áfl ÄÿÊ ∑§„UŸÊ øÊ„UÃ „UÒ¢?
(ÉÊ) ∑§Áfl Ÿ ∑§Êÿ⁄UÃÊ ∑§Ê ¬˝ÁÃÁ„U¢‚Ê ‚ •Áœ∑§ •¬ÁflòÊ ÄÿÊ¢

∑§„UÊ „UÒ?
8. ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¢ ∑§ ©UàÃ⁄U ŒÊ  — 4+4=8

(∑§) ŸË‹∑¢§∆U ∑§ Sfl÷ÊflªÃ Áfl‡Ê·ÃÊ•Ê¢ ∑§Ê fláÊ¸Ÿ ∑§⁄UÊ–
•ÕflÊ

∑È§é¡Ê •ÊÒ⁄U ⁄UÊœÊ ∑§ •Êø⁄UáÊÊ¢ ◊¢ ÄÿÊ •¢Ã⁄U „UÒ?
(π) ‘¡Ê ’ËÃ ªß¸’ ∑§ÁflÃÊ ◊¢ ∑§Áfl Ÿ ◊ÊŸfl ¡ËflŸ ∑§Ë ÃÈ‹ŸÊ

Á∑§Ÿ-Á∑§Ÿ øË¡Ê¢ ‚ ∑§Ë „UÒ?
•ÕflÊ

∑§Áfl Ÿ ‘•¢’⁄U ∑§ •ÊŸŸ’ ∑§Ê ŒπŸ ∑§Ë ’ÊÃ ÄÿÊ¢ ∑§Ë „UÒ?
9. Á∑§‚Ë ∞∑§ Áfl·ÿ ¬⁄U ÁŸ’¢œ Á‹πÊ — 8

(∑§) ÁflôÊÊŸ ∑§ ø◊à∑§Ê⁄U
(π) ‚◊ÊøÊ⁄U-¬òÊ

(ª) π‹∑È§Œ ∑§Ê ◊„Uàfl
(ÉÊ) •‚◊ ∑§Ê ¬˝Ê∑Î§ÁÃ∑§ ‚ÊÒãŒÿ¸

10. •¬Ÿ ÁfllÊ‹ÿ ◊¢ ∑§ê¬ÿÍ≈U⁄U-Á‡ÊˇÊÊ ∑§Ë √ÿflSÕÊ ∑§⁄UŸ ∑§ Á‹∞
¬˝œÊŸÊøÊÿ¸ ∑§Ê ∞∑§ •ÊflŒŸ-¬òÊ Á‹πÊ– 5

•ÕflÊ
•¬Ÿ Á◊òÊ ∑§Ê ◊ÒÁ≈˛U∑§ ∑§Ë ¬⁄UËˇÊÊ ◊¢ ¬˝Õ◊ SÕÊŸ ¬⁄U ©UàÃËáÊ¸ „UÊŸ
¬⁄U ∞∑§ ’œÊß¸ ¬òÊ Á‹πÊ–

11. ÁŸêŸ¢ÊÁ∑§Ã ªlÊ¢‡Ê ¬…∏U∑§⁄U ©U‚∑§ ŸËø ÁŒ∞ ª∞ ¬˝‡ŸÊ¢ ∑§ ©UàÃ⁄U ŒÊ—
‹π∑§ ∑§Ê ∑§Ê◊ ’„ÈUÃ-‚Ë ’ÊÃÊ¢ ◊¢ ◊œÈ◊Á∑πÿÊ¢ ‚ Á◊‹ÃÊ „UÒ–
◊œÈ◊Á∑πÿÊ° ◊∑§⁄¢UŒ ‚¢ª˝„U ∑§ Á‹∞ ◊Ë‹Ê¢ Ã∑§ øÄ∑§⁄U ‹ªÊÃË „UÒ
•ÊÒ⁄U •ë¿U »Í§‹Ê¢ ¬⁄U ’Ò∆U∑§⁄U ©UŸ∑§Ê ⁄U‚ ‹ÃË „UÒ, Ã÷Ë ÃÊ ©UŸ∑§ ◊œÈ
◊¢ ‚¢‚Ê⁄U ∑§Ë ‚fl¸üÊc∆U ◊œÈ⁄UÃÊ „UÒ– ÿÁŒ •Ê¬ •ë¿U ‹π∑§ ’ŸŸÊ
øÊ„UÃ „UÒ¢, ÃÊ •Ê¬∑§Ê fl„UË flÎÁàÃ ª˝„UáÊ ∑§⁄UŸË „UÊªË– •ë¿U-•ë¿U
ª̋¢ÕÊ¢ ∑§Ê πÍ’ •äÿÿŸ ∑§ËÁ¡∞ •ÊÒ⁄U ©UŸ∑§Ë ’ÊÃÊ¢ ¬⁄U ◊ŸŸ ∑§ËÁ¡∞–
Á»§⁄U •Ê¬∑§Ë ⁄UøŸÊ•Ê¢ ◊¢ ÷Ë ◊œÈ ∑§Ê-‚Ê ◊ÊœÈÿ¸ •ÊŸ ‹ªªÊ– ∑§Êß¸
•ë¿Ë ©UÁÄÃ, ∑§Êß¸ •ë¿UÊ ÁfløÊ⁄U ÷‹ „UË ŒÍ‚⁄UÊ¢ ‚ ª˝„UáÊ Á∑§ÿÊ
ªÿÊ „UÊ ¬⁄U ÿÁŒ ÿÕc≈U ◊ŸŸ ∑§⁄U •Ê¬ ©U‚ •¬ŸË ⁄UøŸÊ ◊¢ SÕÊŸ
Œ¢ª¢ ÃÊ fl„U •Ê¬∑§Ê „UÊ ¡Ê∞ªÊ–
(∑§) ß‚ ªlÊ¢‡Ê ∑§Ê ∞∑§ ©UÁøÃ ‡ÊË·¸∑§ ’ÃÊ•Ê– 1
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(π) •ë¿UÊ ‹π∑§ ’ŸŸ ∑§ Á‹∞ ÄÿÊ ∑§⁄UŸÊ øÊÁ„U∞? 1

(ª) ŒÍ‚⁄UÊ¢ ∑§Ë ©UÁÄÃ •ÊÒ⁄U ÁfløÊ⁄U •Ê¬∑§ ∑Ò§‚ ’Ÿ ‚∑§Ã „UÒ¢? 2

(ÉÊ§) ‹π∑§ ∑§Ê ∑§Ê◊ ◊œÈ◊Á∑πÿÊ¢ ‚ ∑Ò§‚ Á◊‹ÃÊ „UÒ? 2

12. ÁŸêŸÁ‹ÁπÃ ◊¢ ‚ Á∑§ã„UË¢ ¬°Êø flÊÄÿÊ¢ ∑§Ê Á„UãŒË ◊¢ •ŸÈflÊŒ
∑§⁄UÊ — 1+1+1+1+1=5

(a) Ram is a good boy.

(b) He reads in class x (ten)

(c) He lives in Guwahati with his father.

(d) His father works in a factory.

(e) Assam is famous for tea production.

(f) Help the poor.

(g) Always speak truth.

(h) Honesty is the best policy.
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MODEL QUESTION PAPER
SOCIAL SCIENCE HSLC/AHM Exam. - 2014

CLASS - X
Time : 3 Hours Total Marks : 80

(The figures in the margin indicate full marks for the question)
NEW COURSE

1. Choose the correct answer (qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±] 1x5=5
(i) Which one of the following is a resistance?

(a) Rainfall (b) Infertile Soil
(c) Education (d) Public Health

(i) Ó¬˘1 Œfl¡±ÚÀÈ¬± õ∂øÓ¬À1±Òfl¡∑
[fl¡] ¬ı1 ∏̄≈Ì [‡] ’Ú≈¬ı«1 ̂ ¬”ø˜
[·] ø˙é¬± [‚] Ê√Ú¶§±¶ö…

(ii) The world's coldest place Verkhoyansk is situated in
(a)Steppe Climatic Region (b) Alpine Climatic Region
(c)Taiga Climatic Region    (d) Manchurian Climatic Region

(ii) ¬Û‘øÔªœ1 ̇ œÓ¬˘Ó¬˜ Í¬± ◊̋√√ ̂ ¬±‡«̊ ±̨Ú¶®1 ’ªø¶öøÓ¬ ̋ √√í˘ñ
[fl¡] Œ©Ü¬Û Ê√̆ ¬ı± ˛̊≈ ’=˘ [‡] ’±˘¬Û± ◊̋√√Ú Ê√̆ ¬ı±˚̨≈ ’=˘
[·] È¬± ◊̋√√·± Ê√̆ ¬ı±˚̨≈ ’=˘ [‚] ̃ ±=≈ø1 ˛̊± Ê√̆ ¬ı± ˛̊≈ ’=˘

(iii) In which year 14 banks were nationalized in India?
(a)1955 (b) 1969
(c)1976 (d) 1996

(iii) Œfl¡±Ú ¬ıÂ√1Ó¬ ̂ ¬±1Ó¬¬ı ∏̄«Ó¬ 14È¬± Œ¬ı—fl¡ 1±©Ü™œ ˛̊fl¡1Ì fl¡1± ∆ √̋√øÂ√̆ ∑
[fl¡] 1955 [‡] 1969
[·] 1976 [‚] 1996

(iv) The song "Bande Mataram" was written by
(a) Rabindranath Tagore (b) Surendranath Banerjee
(c) Acharya Prafulla Chandra Roy (d) Bankim Chandra Chatterjee

(iv) ë¬ıÀµ ̃ ±Ó¬1˜í ·œÓ¬ÀÈ¬±1 1‰¬fl¡ ’±øÂ√̆ ñ
[fl¡] 1¬ıœf Ú±Ô Í¬±fl≈¡1 [‡] ̧ ≈À1f Ú±Ô Œ¬ıÚ±Ê«√œ
[·] ’±‰¬± «̊ õ∂Ù≈¬~ ‰¬f 1 ˛̊ [‚] ¬ıøÇ˜ ‰¬f Œ‰¬È¬±Ê«√œ

(v) The United Nations Organisation came into being
(a) in 1943 (b) in 1944

[÷ËëÂù ›¶•ŸßÁ±ßÁîÂ1 84 ÂóÔ‡Â±1 Âó¿1»ËîÇÂ 928 ÂóÔ‡Â±Íù Âó¿1»îÇÂò ßÁ1± ÆýÃÃËåÃ]

(928)

(c) in 1945 (d) in 1946
(v) 1±©Ü™̧ —‚ õ∂øÓ¬á¬± fl¡1± ∆ √̋√øÂ√̆ ñ

[fl¡] 1943 ‰¬ÚÓ¬ [‡] 1944 ‰¬ÚÓ¬
[·] 1945 ‰¬ÚÓ¬ [‚] 1946 ‰¬ÚÓ¬

2. Cite an example of man-made resource. 1
¤ø¬ıÒ ̃ ±Úª- ‘̧©Ü ̧ •Û√1 Î¬◊√± √̋√1Ì ø√̊ ±̨º

3. What is the total area of Assam? 1
’¸˜1 ̃ ≈Í¬ ̃ ±øÈ¬fl¡±ø˘ øfl¡˜±Ú∑

4. In which year was the First Five Year Plan started in India? 1
ˆ¬±1Ó¬Ó¬ õ∂Ô˜ ¬Û=¬ı±ø ∏̄«fl¡ ¬Ûø1fl¡äÚ± Œfl¡±Ú ¬ıÂ√1Ó¬ ’±1y fl¡1± ∆ √̋√øÂ√̆ ∑

5. What was the main cause of the partition of Bengal? 1
¬ı—· ø¬ıˆ¬±Ê√Ú1 ̃ ”̆  fl¡±1Ì øfl¡ ’±øÂ√̆ ∑

6. Who wrote the Hastividyarnab during the reign of Ahom King Siba Singha?1
’±À √̋√±˜ 1Ê√± ø˙ªø¸— √̋√1 1±Ê√Q fl¡±˘Ó¬ Œfl¡±ÀÚ ë √̋√ô¶œø¬ı√…±Ú«¬ıí 1‰¬Ú± fl¡ø1øÂ√̆ ∑

7. Define Franchise or Voting right? 1
Œˆ¬±È¬±øÒfl¡±11 ̧ —:± ø√̊ ±̨º

8. In which year was the coalition government formed at the central level in
India? 1
ˆ¬±1Ó¬1 Œfl¡fœ ˛̊ ‰¬1fl¡±1 ¬Û «̊±˚̨Ó¬ Œfl¡±Ú ¬ıÂ√1 ̧ øijø˘Ó¬ ‰¬1fl¡±1 ·Í¬Ú fl¡1± ∆ √̋√øÂ√̆ ∑

9. Classify resources on the basis of durability? 2
¶ö±ø˚̨Q1 øˆ¬øM√√Ó¬ ̧ •Û√ ̧ ”̋̃ √√fl¡ ø¬ıˆ¬Mê√ fl¡1±º

10. Name two common species of trees found in tropical evergreen forests in
Assam? 2
’¸˜1 Sê±ôLœ ˛̊ ø‰¬1 Œ¸Î¬◊Ê√ ’1Ì…Ó¬ Œ¬Û±ª± ≈√ø¬ıÒ ·Â√1 Ú±˜ ø˘‡±º

11. Mention two rivers of Asia flowing into the Arctic Ocean. 2
Î¬◊M√√1 ̃ √̋√±¸±·1Õ˘ Œ¬ı±ª± ¤øÂ√̊ ±̨1 ≈√‡Ú Ú√œ1 Ú±˜ ø˘‡±º

12. In which year was the World Bank formally organized? Where is its
Headqaurter? 1+1=2
Œfl¡±Ú ¬ıÂ√1Ó¬ ø¬ıù´ Œ¬ı—fl¡ ’±Ú≈á¬±øÚfl¡ˆ¬±Àª õ∂øÓ¬á¬± fl¡1± ∆ √̋√øÂ√̆ ∑  ̋ ◊√√̊ ˛±1 ̧ √1 fl¡± «̊±˘ ˛̊ fl¡íÓ¬∑

13. Mention two aims of the International Monetary Fund? 2
’±ôL1±©Ü™œ ˛̊ ̃ ≈̂ ± øÚøÒ1 ≈√È¬± ̆ é¬… Î¬◊À~‡ fl¡1±º

14. In which year did the Muslim League emerge? Who was the Viceroy of
India at that time? 1+1=2
Œfl¡±Ú ¬ıÂ√1Ó¬ ̃ ≈Â√ø˘˜ ̆ œ·1 Î¬◊O±Ú ‚øÈ¬øÂ√̆ ∑ Œ¸ ◊̋√√ ̧ ˜ ˛̊Ó¬ ̂ ¬±1Ó¬1 ̂ ¬± ◊̋√‰¬1 ˛̊ Œfl¡±Ú ’±øÂ√̆ ∑

(929)



15. Why did Jenkins declare the indigenous cultivation of poppy from first May
1860 in Assam? 2
1860 ‰¬Ú1 ¬Ûø √̋√̆ ± Œ˜íÓ¬ ŒÊ√Úøfl¡Àk øfl¡˚̨ Ô ≈̆ª± fl¡±øÚ Œ‡øÓ¬1 Œ‚± ∏̄Ì± fl¡ø1øÂ√̆ ∑

16. Why is coalition government necessary in Democracy? Give two reasons.2
·ÌÓ¬LaÓ¬ ̧ øijø˘Ó¬ ‰¬1fl¡±11 øfl¡ ˛̊ õ∂À ˛̊±Ê√Ú∑ ≈√È¬± fl¡±1Ì ø√̊ ˛±º

17. Why is barter system difficult to operate? 3
ø¬ıøÚ˜ ˛̊ õ∂Ô± õ∂‰¬˘Ú fl¡ø1¬ıÕ˘ øfl¡ ˛̊ ’ ≈̧ø¬ıÒ±Ê√Úfl¡∑

18. Mention three objectives of economic planning? 3
’Ô«ÕÚøÓ¬fl¡ ¬Ûø1fl¡äÚ±1 øÓ¬øÚÈ¬± Î¬◊ÀV˙… Î¬◊À~‡ fl¡1±º

19. How did the Ahom kings patronize the process of assimilation of ethnic
groups in Assam? 3
’¸˜Ó¬ ’±À √̋√±˜ 1Ê√±¸fl¡À˘ Œfl¡ÀÚÕfl¡ Ô ≈̆ª± Ê√ÚÀ·±á¬œ¸ ”̃̋ √√1 ˜±Ê√Ó¬ ¸—ø˜|Ì1 õ∂øSê˚˛±1
¬Û‘á¬À¬Û± ∏̄fl¡Ó¬± fl¡ø1øÂ√̆ ∑

20. Why is Public opinion necessary in democracy? 3
·ÌÓ¬LaÓ¬ Ê√Ú˜Ó¬ øfl¡ ˛̊ õ∂À ˛̊±Ê√Úœ ˛̊∑

21. Suggest four measures to mitigate the problem of flood in Assam? 4
’¸˜1 ¬ı±Ú¬Û±Úœ1 ̧ ˜¸…± ̧ ˜±Ò±Ú1 ¬ı±À¬ı ‰¬±ø1È¬± Î¬◊¬Û±˚̨ √±ø„√√ Ò1±º

22. Give four reasons necessary to work for world peace? 4
ø¬ıù´˙±øôL fl¡± «̊fl¡1œ fl¡1±1 ¬ı±À¬ı õ∂À ˛̊±Ê√Úœ ˛̊ ‰¬±ø1È¬± fl¡±1Ì Î¬◊À~‡ fl¡1±º

23. Draw an outline map of Assam and show the location of Manas National
Park, Barail Range and Majuli  island? 4
’¸˜1 ¤‡Ú Ú'± ˜±Úø‰¬S ’—fl¡Ú fl¡ø1 Ó¬±Ó¬ ˜±Ú¸ 1±©Ü™œ ˛̊ Î¬◊√…±Ú, ¬ı1± ◊̋√√̆  ¬Û¬ı«Ó¬ Œ|Ìœ ’±1n∏
˜±Ê≈√̆ œ ¡Zœ¬Û ¬ıU›ª±º

24. Discuss the factors affecting transport and communication system of Assam?5
’¸˜1 ¬Ûø1¬ı √̋√Ì ’±1n∏ Œ˚±·±À˚±· ¬ı…ª¶ö±fl¡ õ∂ˆ¬±øªÓ¬ fl¡1± Î¬◊¬Û±√±Ú¸ ”̃̋ √√ ’±À˘±‰¬Ú± fl¡1±º

25. Describe why are the countries of the monsoon climatic region of Asia
comparatively more developed? 5
¤øÂ√̊ ±̨1 Œ˜Ã‰≈¬˜œ Ê√̆ ¬ı±˚̨≈ ’=˘1 Œ√̇ ¸ ”̋̃ √√ øfl¡˚̨ Ó≈¬˘Ú± ”̆̃ fl¡ˆ¬±Àª ’øÒfl¡ Î¬◊ißÓ¬∑

26. Give an account of the trend of the Quit India Movement? 6
ˆ¬±1Ó¬ Ó¬…±· ’±Àµ±˘Ú1 Ò±1± ̧ •ÛÀfl«¡ ¤øÈ¬ ŒÈ¬±fl¡± ø˘‡±º

27. Explain the causes of failure of the Rebellion of 1857-58 in Assam? 6
’¸˜Ó¬ 1857-58 ‰¬Ú1 ø¬ıÀ^± √̋√1 ø¬ıÙ¬˘Ó¬±1 fl¡±1Ì¸ ”̋̃ √√ ¬ı…±‡…± fl¡1±º

28. Discuss why is the Civil Disobedience Movement in Assam called a move-
ment of the students? 6
’¸˜1 ’± ◊̋√√Ú ’˜±Ú… ’±Àµ±˘Úfl¡ øfl¡ ˛̊ ¤È¬± Â√±S ’±Àµ±˘Ú ¬ı≈ø˘ Œfl¡±ª± ̋ √√̊ ˛ ñ’±À˘±‰¬Ú± fl¡1±º
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